312. The Reproaches ( 1¥ version; Queenan)
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My peo- ple, what have I done to you? Or in what have I of- fend-ed you?
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An- swer me! 1. Is it be- cause I led you out of the

2.Is it be- cause I scourg'd th'E- gyp-tian and his
3.Is it be- cause I drown'd the Pha- raoh and his
4. Is it be- cause - I have o- pened up the
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land of E- gypt that you have pre- pared a cross for your sa- vior?
first- born for you, - that you sentyour sa-  vior a- way to be scourg'd?
ar-my in the sea that you gave me ov-er to the hands of -  plot- ters?

sea

be - fore you, that you

have

o- pened my side with a spear?
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'ﬁext: Sacramentary, 1977
Tune: William Queenan, S.S. 1969, descant by Robert M. Mondoy, 1995




ANTIPHON

Grandly, but warmly
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S Ho- ly God! Ho- ly might-y one!
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QOoo, Ho- ly God Ho- ly
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Ho- ly im- mor- tal One have mer- cy on us!
') to next verse
% ’,
mer- on us!
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My peo- ple, what have I done to you? Or in what have I of- fend-ed you?
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An- swer me! 5.Is it be- cause I went be- fore you in a
6. Is it be- cause I gave you man- na in the
7.Is it be- cause I pour'd fresh wa- ter from the
8. Is it be- cause I raised you up in
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pil- lar of cloud, that you led me off to the court of Pi- late?
de- sert to eat, that youhavestruck me down with  blows and scour-ges?
rock for you to drink, that you gave me vi-ne- garand gall in my thirst?
powT and might, that youhaveraised me up on the wood of the cross?
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